5
1

-1

SERVICE DATA

Supplemental Restraint System “Airbag” - 2. Body Datum Points

1. Supplemental Restraint System
“Airbag”

Airbag system wiring harness is routed on and along body
panels.

CAUTION:

e All Airbag system wiring harness and connectors
are colored yellow. Do not use electrical test equip-
ment on these circuit.

e Be careful not to damage Airbag system wiring har-
ness when repairing the body panel.

2. Body Datum Points

Various master repair locations are established as datum
points used during body repairs. In addition, guide holes,
locators and indents are provided to facilitate panel
replacement and achieve alignment accuracy.

NOTE:

Left and right datum points are all symmetrical to each
other.



SERVICE DATA

5-1

2. Body Datum Points

1. ENGINE COMPARTMENT AND ROOM (SEDAN AND

WAGON)

® : Master repair location

G5M0110

©e6 660 0 OO

Radiator panel (UPR) repair bolt hole M8 (Right)
Radiator panel (UPR) repair bolt hole M8 (Left)

Fender attaching bolt hole M6 (Symmetrical)

Headlight attaching bolt hole M6 (Symmetrical)

Radiator panel side gauge hole 24 mm (0.94 in) dia. (Symmetrical)

Front bumper mounting hole 14 x 17 mm (0.55 x 0.67 in) dia. (Symmetri-

cal)

Front crossmember attaching bolt hole 12.4 mm (0.488 in) dia. (Symmetri-

cal)

Fender attaching bolt hole M6 (Symmetrical)

Front strut mounting hole 10 mm (0.39 in) dia. (Symmetrical)
Hood hinge attaching bolt hole M8 (Symmetrical)

Cowl panel mounting hole 5 mm (0.20 in) dia.

(Located in center of vehicle.)

Front rail (Inner) mirror attaching bolt hole 8 mm (0.31 in) dia.
Fender attaching bolt hole M6 (Symmetrical)

Front pillar gauge hole 20 mm (0.79 in) dia. (Symmetrical)

OISISIOISISISISISISISISISIOIS)

Wax coat hole, 20 mm (0.79 in) dia. (Symmetrical)

Retainer attaching square hole 7 mm (0.28 in) (Symmetrical)
Sun visor attaching hole 20 mm (0.79 in) dia. (Symmetrical)
Retainer attaching square hole 7 mm (0.28 in) (Symmetrical)
Retainer attaching square hole 7 mm (0.28 in) (Symmetrical)
Center pillar gauge hole 10 mm (0.39 in) dia. (Symmetrical)
Belt anchor attaching bolt hole (Symmetrical)

Wax coat hole, 20 mm (0.79 in) dia. (Symmetrical)

Rear door switch attaching hole 20 mm (0.79 in) dia. (Symmetrical)
Retainer attaching square hole 7 mm (0.28 in) (Symmetrical)
Spare tire attaching bolt hole M8

Air draw hole 7 mm (0.28 in) dia. (Symmetrical)

Fender attaching bolt hole M6 (Symmetrical)

Door switch attaching hole 20 mm (0.79 in) dia. (Symmetrical)
Front glass attaching hole

Right 6.5 mm (0.256 in) dia.

Left 6.5 x 10 mm (0.256 x 0.39 in) dia.



5-1

2. Body Datum Points

SERVICE DATA

2. ENGINE COMPARTMENT AND ROOM (COUPE)

COUPE MODEL

@ : Master repair location

G5M0643

©e6 660 0 00O

Radiator panel (UPR) repair bolt hole M8 (Right)

Radiator panel (UPR) repair bolt hole M8 (Left)

Fender attaching bolt hole M6 (Symmetrical)

Headlight attaching bolt hole M6 (Symmetrical)

Radiator panel side gauge hole 24 mm (0.94 in) dia. (Symmetrical)

Front bumper mounting hole 14 x 17 mm (0.55 x 0.67 in) dia. (Symmetri-

cal)

Front crossmember attaching bolt hole 12.4 mm (0.488 in) dia. (Symmetri-

cal)

Fender attaching bolt hole M6 (Symmetrical)

Front strut mounting hole 10 mm (0.39 in) dia. (Symmetrical)
Hood hinge attaching bolt hole M8 (Symmetrical)

Cowl panel mounting hole 5 mm (0.20 in) dia.

(Located in center of vehicle.)

Front rail (Inner) mirror attaching bolt hole 8 mm (0.31 in) dia.
Fender attaching bolt hole M6 (Symmetrical)

Front pillar gauge hole 20 mm (0.79 in) dia. (Symmetrical)

@eeO6

@RE®O®

@

Retainer attaching square hole 7 mm (0.28 in) (Symmetrical)

Sun visor attaching hole 20 mm (0.79 in) dia. (Symmetrical)

Spare tire attaching bolt hole M8

Air draw hole 7 mm (0.28 in) dia. (Symmetrical)

Fender attaching bolt hole M6 (Symmetrical)

Front glass attaching hole

Right 6.5 mm (0.256 in) dia.

Left 6.5 x 10 mm (0.256 x 0.39 in) dia.

Wax coat hole 20 mm (0.79 in) dia. (Symmetrical)

Door switch attaching hole 13.5 mm (0.531 in) dia. (Symmetrical)
Retainer attaching square hole 8 mm (0.31 in). (Symmetrical)

Rear quarter glass attaching hole 8 mm (0.31 in) dia. (Symmetrical)
Rear quarter glass attaching hole 7 mm (0.28 in) dia. (Symmetrical)
Rear quarter glass attaching hole 8 x 5.5 mm (0.31 x 0.217 in) dia.
(Symmetrical)

Retainer attaching square hole 8 mm (0.31 in). (Symmetrical)

Seat belt anchor attaching bolt hole 16 mm (0.63 in) dia. (Symmetrical)




SERVICE DATA

5-1

2. Body Datum Points

3. LUGGAGE COMPARTMENT AND ROOM (SEDAN
AND COUPE)

@ : Master repair location

G5M0111

® ® ©

e ©®©

®

Rear pillar (Inner) gauge hole 8 mm (0.31 in) dia. (Symmetri-
cal)

Rear roof trim attaching hole 8 mm (0.31 in) dia. (Symmetri-
cal)

Rear quarter trim attaching hole 8 mm (0.31 in) dia. (Sym-
metrical)

Seat belt anchor attaching bolt hole (Symmetrical)
Reinforcement (Rear panel rear) repair locator (Located in
center of vehicle)

Rear corner patch at flange (Symmetrical)

Rear skirt (UPR) cutout (Repair locator)

Rear skirt gauge hole 20 mm (0.79 in) dia. (Symmetrical)
Rear combination light mounting hole 9 mm (0.35 in) dia.
(Symmetrical)

Rear quarter bumper side gauge hole 20 mm (0.79 in) dia.
(Left)

® 6@ ©® 6

® ©

Rear quarter bumper side gauge hole 20 mm (0.79 in) dia.
(Right)

Instrument panel attaching square hole 22 x 34.5 mm (0.87
x 1.358 in) (Right)

Steering support beam attaching bolt hole M8 (Symmetrical)
Front pillar (Inner) gauge hole 10 mm (0.39 in) dia. (Sym-
metrical)

Floor mat attaching clip hole 8 mm (0.31 in) dia. (Symmetri-
cal)

Rear panel (Center) repair locator (Located in center of
vehicle.)

Rear glass attaching hole

(Right): 6.5 mm (0.256 in) dia.

(Left): 6.5 x 10 mm (0.256 x 0.39 in) dia.



5-1 SERVICE DATA
2. Body Datum Points

4. LUGGAGE COMPARTMENT AND ROOM (WAGON)

G5M0113

OPEOEOEO®O®

Rear quarter glass attaching hole 8 mm (0.31 in) dia. (Symmetrical)

Roof rail attaching hole 10 mm (0.39 in) dia. (Symmetrical)

Rear quarter glass attaching hole 8 x 15 mm (0.31 x 0.59 in) dia. (Symmetrical)
Rear roof trim attaching hole 8 mm (0.31 in) dia. (Symmetrical)

Rear strut mounting hole 10 mm (0.39 in) dia. (Symmetrical)

Rear gate stay attaching bolt hole M8 (Symmetrical)

Child seat anchor attaching bolt hole

Rear combination light mounting hole 10 mm (0.39 in) dia. (Symmetrical)
Side rail (Inner) gauge hole 8 mm (0.31 in) dia. (Symmetrical)

Rear quarter trim attaching hole 8 mm (0.31 in) dia. (Symmetrical)

Rear quarter harness attaching clip hole 7 mm (0.28 in) dia. (Symmetrical)
Seat belt anchor attaching bolt hole (Symmetrical)




SERVICE DATA

5-1

2. Body Datum Points

5. UNDER BODY

G5M0112

@eOROOOR®O®E

Radiator panel (LWR) frame gauge hole 15 mm (0.59 in) dia. (Symmetrical)
Front side frame gauge hole 20 mm (0.79 in) dia. (Symmetrical)

Front crossmember attaching hole 12.4 mm (0.488 in) dia. (Symmetrical)
Front suspension attaching bolt hole M14

Side frame gauge hole 20 mm (0.79 in) dia. (Symmetrical)

Transmission mount attaching bolt hole M10 (Symmetrical)

Side frame gauge hole 15 mm (0.59 in) dia. (Symmetrical)

Rear differential attaching bolt hole M12 (Symmetrical)

Rear suspension attaching bolt hole M12 (Symmetrical)

Rear side frame gauge hole 15 mm (0.59 in) dia. (Symmetrical)



SERVICE DATA

5-1

G5M0207

G5M0209

G5M0211

G5M0213

RN
L 0
0 @o
0
——=i 0
- o0
\ﬁ\\\\\@
/// o_ _ D
AV
| Lo 0
e
// <_
\ o= W W W W
\ e /< : :
/b /\/\Z eoﬂhﬂ_/v/ m
—
O
12}
£
g @
IS
=
<
o
=)
(@]
m
i




5-1

2. Body Datum Points

SERVICE DATA

Lt

° |
02 Dl

l

_

\

—

\

SN

T
o 7]

G5M0215

M0217

i)
s
NS

, * _
: _w _i AR
,.,,_ S\ o \A /_

, AWMWWU/}A

00©°

G5M0219

G5M0221

S

&

P

oY
e

\\ AM ,/M f
; /

G5M0214

G5M0216

G5M0218

G5M0220




5-1 SERVICE DATA
2. Body Datum Points

I
N —

=
!

=] W
“\’;O@l“ 0
OW -
i 1
i _@A\&) —
el
K U N fe|
. N

222222

S—
‘//
W\

G
O

) N

10



5-1

2. Body Datum Points

G5M0231
G5M0233
G5M0235

SERVICE DATA

G5M0230
G5M0232
G5M0234

G5M0237

11

G5M0236




5-1 SERVICE DATA
2. Body Datum Points

s N
ol I
((\(“/J/?—{l

——>leo B\l
- \Q/// |
B B

_;,——-;:’——’//

= / N

_/,/-'—:;/ﬁ"’@\

S g

—

—

G5M0242 G5M0243

G5M0244 G5M0245

12



SERVICE DATA

5-1

2. Body Datum Points

E=a— =) Li)

G5M0246

G5M0247

Wagon

F

P N ap—

~- ﬁ
\\ AN “"_////-
=L

T P —
===
5 S < < S
— =
\\ {J Uo7
A—}\\—;h—/ /
G5M0249

G5M0251

G5M0252

G5M0253

13



SERVICE DATA

5-1

2. Body Datum Points

G5M0255

G5M0257

G5M0259

G5M0261

G5M0254

G5M0256

G5M0258

G5M0260

14



SERVICE DATA 5-1

2. Body Datum Points
Wagon 3 \ /14
A

TOrE., )& |
— = — KK—I .
\V %

G5M0262

G5M0264 G5M0265

\\
/S

/
/”\@(

G5M0268 G5M0269

15






